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MATHEMATICS By Pradeep Sir

L— —
DU deng = D WIS X O + R

Q. 1) In a division sum, the divisor is 13 times the

quotient and 6 times the remainder. If the remainder is

MIia R W ¢+ 1’}1‘ 39, then the dividend is:

= " TP YT F AN H UGS WG BT 13 A1 R A9ed 1
3,{,:\3) s 9 1) suma’rm%mfzmas%.a’rﬁ%:
DY — (a) 4576

e (b) 4800
-5 e?l‘bl £/
P

v

Ny

cC

5 234rG =
2 \)\Ja:j




MATHECMATICS By Pradeep Sir

Q. 2) Find the remainder when 88 + 6 is divided by 7.

wa 8" + 6 B 7 A RwRe frar we @ Avea gE
Diforg|

E) -
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MATHECMATICS By Pradeep Sir

A+r - AxB Q. 6) Applied to a bill for Rs.50,000, the difference
| 7V between a discount of 40% and two successive discounts
of 36% and 4%,is:
50,000 $UY & fad W @], 40%3%{523??: 36% 3R 2%
P13 AR G S ol BT 3R 8: \ ,
T2 4o)- (a)Rs1440
7 24tu- [
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MATHCMATICS By Pradeep Sir

Q. 7) The simple interest on a certain sum at the rate of
12.5% per annum for 6 years is Rs.13,500 less than the
principal. Find the simple interest ==

o FAffa TR weaul F fomw 125 ufa ad Ft s |
HIYRY &9 @Y= ¥ 13,500 IUT HH g1 HIYRU TS

(a) Rs.40,500

: .54,00C
(c) Rs.13,500
(d) Rs.40,000




a MATHCMATICS By Pradeep Sir

Q. 8) Ram has an average score of 65 runs in 19 innings
in cricket matches. Find out how many runs are to be
scored by him in the 20th innings to raise the average

[ S Sy A score to 67.
TR Epn
0 65 > L7 gg%waqﬁa’fﬁl ﬂm e
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MATHEMATICS By Pradeep Sir
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Q. 10) Raju and Rajat working together take 5 days to
complete a piece of work. If Raju alone can do this work

in 7 days, how long would Rajat take to complete the

same work?
3R T9d B! TP HIY BTH HId HTH
Tl%‘—!?l"‘lﬁ%l gfe 39 P 39 P qur gl
amﬁaﬁmaﬁwmﬁﬁmm
(a) 13 days/18 f&=

(b) 17 days/17 fg=

m: A

()] 17 5 days/17 5 Tt
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MATHECMATICS By Pradeep Sir

Q. 11) 4 men and 6 women can complete a work in 8
days, while 3_ men and 7 women can complete it in 10
days. In how many days will 25 women complete it?

;Igaﬁuuﬁmq ST & 8 &= § T &Y ¥Pa ¢,
3 q¥Y 3R 7

739 10 o= o @1 B 9 g
25 Afgeme 3/ fran &= o aaih
(a) 20
(:)zs

S




MATHECMATICS By Pradeep Sir

D= GOo Mt Q. 12) A policeman starts chasing a thief when he was
already 600 m ahead. If the policeman is running at a
’ speed of 9 km/h and the thief at 8 km/h, then the thief
Z’ me = Gbomt would be caught at a distance of:
| 500 M £ gﬁwﬂg mmmmw% EE
:'g\ Rl arr?f T / UeT
S Gl ﬁra aﬁ e | SIS TET 8.
=  gxbos e el 5 wuwm
(a)6.5km —
17} (b)6km P =3~C




MATHCMATICS

By Pradeep Sir

Y =Yoo mi
( ﬁ._g._—, b?{t"\/ha
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Q. 13) A thief seeing a policeman from a distance of 400
m started running at a speed of 16 km/h. The policeman
chased him immediately with a speed of 18 km/h and the
thief was caught. What is the distance run by the thief
before he was caught by the policeman? %
gﬁaﬁm:ﬂaaﬁaﬁﬂwmﬁ%@m

/ b1 @t Tfd J URH a | = qd 18 fot
/ ¥e1 @t fa |/ Iuer dor_fear ok Ik uwer man
gferee sl gRT UPS S | Ugd 9R A fat gt aa a2

(a) 3220 m

(d) 3240 m
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MATHCMATICS By Pradeep Sir

L~
Q 15) If x? - 15x + 1 = 0, what is the value of x* - 223x? +

L/‘

uf%.x -15x+1_o% ?ﬁx‘ 223x? +6aﬂmazn%7
(a)O 7¢ >c ;( J

(b) 9
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m MATHCMATICS By Pradeep Sir

T, - m Q. 16) When two circles of radii r; and r, have their
centres at a distance d apart, then length of the common
. transverse tangent is:
:Dc.r:’ d2_ (= »w.)?- o BT r, 3R r, & S g1 B Fg & g W Bl @ IYAE
Ve T Y Bt g gt @
T T (@) Jd—(r-1)

(€) JdZ + (r; — 1,)?
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MATHCMATICS By Pradeep Sir

Q. 17) In the following figure, there are two circles that
touch each other externally. The radiuip of the first circle
with centre P is 25 cm. The radius of the second circle
with centre Q is 4 cm. Find the length of their dlrect

common tangent %B » %‘ & g"\q} = a
¥4
mm%@aﬁ qﬁqaaﬁ 25 M 21 FE Q
aﬂﬁm«a#ﬂélmwﬂeﬁmm
’\’ETAB LEIERICE AT

Figure is not to scale and is only for representational

/

DT = RN Fﬁapgﬁﬁwmqﬁ%wmm

0 AR KSA Y (b) 21 cm/21§

_-— (c) 18 cm/18 JHI
® {100 (d) 22cm/22 |4t

1o =20
d$0¢4




MATHCMATICS By Pradeep Sir

Q. 18) A field is 150 m long and 80 wide. How many

11\© -
@ O times (rounded off to 1 decimal place) is its perimeter to
[ S50 the length of its diagonal?
U@ AgE 150 Hiex dar 3R 80 Hiew 9sT 31 st uRkfy

L@/n‘s'(‘j'?qo % Bed & qard @ el aR @uEEd wWE aw
- &7
Q0 \SO T’m

a) 3.1

P= LL4b) L—




MATHECMATICS By Pradeep Sir

Q. 19) The following formula is used to calculate which

of the following?
ffg & & fpuat e & fore FRafefee g3 &1 suam

g ST 22

Y

-Angleof arcatcentre

360° P ——-
(a) Area of an arc/ U® 919 &1 &THd
(b) Radius of a circle / 90 CIRE 5|

(c) Length of a sector/@ﬁﬁ?ﬁm
(d) Length of an arc / 910 &1 @aTs

X x diameter




MATHCMATICS By Pradeep Sir

— >
Cbo V = L Q. 20) A metallic cube has each of its side of length 12
3 cm. It is melted and recast into three small cubes. Out of
| ’??: o 4,3_(_ K + 0-'3 these cubes, two have their sides as 6 cm and 8 cm,

Z respectively. The length of each side of the third cube is:
728 = Kb+ SI2+a TF ulg ¥ U B Tde Yo # da 12 AW 21 TR

- l fRreerer A ol e A aqa Reemar g1 g e A A QY
)72 8 - J2 g +a’ F Yo HU: sﬁﬁaﬁvsﬁﬂ’t%ﬁﬂﬁmaﬂm
ag _ 1729-7>24& waﬁm%
(@) 5 cm
a's - | O (b) 9 cm

== o,




MATHE MATICS By Pradeep Sir

SLLLD: I '4-":,%'2(0 Q. 21) If tan a = 6, then sec a equals to:

= I tana = 6, A sec a W -
(a) V35
Sece [Toae
— (¢) V5
d % ) V7
P




MATHECMATICS By Pradeep Sir

CotA=1 = Us 3 Q. 23) IfcotA=1,sinB=V—fi,thenﬁndthevalueof
sq’ _ __j_: - S sin(A + B) — cot(A + B).
Mwé = L ;
uﬁcom =1, smB - % ! sin(4 +B) — cot(4 + B) &1
-
mmaﬂﬁml
%"’l 4’0. -—CD“’qo (a)E

N O

(d)1-vV2




MATHCMATICS By Pradeep Sir

Q. 24) The following bar graph shows the sales of books
(in thousands) from six branches of a publishing

company during two consecutive years 2018 and 2019.
R IT® TR &t a9l 2018 3R 2019 &

S DI 3t | o1 famt
%ﬁml B¢ UG d gDl (@RI

Total sales of 6th branch for both the years is what
percentage of the sales of 3rd branch for both the years?
(rounded off to two decimal places)

ﬁaﬂﬁuﬁm% , gT aut & da TmE
o fawt &1 fFaan 22 (S SUHed WHE dF

quIifera)

(a) 68.25%

1217 (b) 65.29%
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MATHCMATICS

By Pradeep Sir
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Q. 25) Study the given graph carefully and answer the
gqestion that follows.

T UTH $T WHYEP AT B IR Fafafaa vy a1
IR Gl

The imports in 1977 were approximately how many
times that of the year 1976?

1977 ¥ 3TATd 4 1976 DI g1 H TNHI fHa=r =71 412
(@) 1.11

(b) 1.22 = 'V

(c) 1.33 %

(d) 1.44
§ Lo

@‘M




